ISHIDA WPL-3000

MSCU-3000

Part Number/Price

REF # PART # DESCRIPTION SYNONYM PRICE
1 48276 Base, box 51-0338-11 $307.00
2 48263 Cover, box, MSCU-R 43-3711-13 $163.00
3 48275 L plate B, connector 51-0337-35 $95.00
4 47395 Rubber pad 09-3630-03 $1.50
5 48278 Name plate, specification 51-8671-01 $19.00
6 45181 Name plate, specification 43-1783-05 $29.75
7 48279 Name plate, explanation 52-0230-01 $4.00
8 47027 FWB accessory, card spacer 00-1796-05 $1.50
9 42631 Screw, machine, M3-0.5x6 mm, SST counter sink 02-1911-01 $1.50
10 48240 Screw, cross pan head, M3x8 pan head SST 02-0052-09 $0.50
11 41732 Screw, SST, M4x6 00-0237-06 $1.50
12 45173 Connector, lock 03-1946-09 $9.50
13 48239 TP screw M3x6 00-0438-08 $1.50
14 48234 Screw, cross pan head 00-0071-05 $0.50
15 48237 Plain washer 00-0142-06 $1.00
16 42854 Spring washer 00-0172-08 $1.50
17 48236 Hex nut, T1 00-0106-01 $1.50
30 47241 LED assy 52-0150-06 $46.00
31 47242 Switch assy, seesaw 52-0151-00 $33.00
32 47243 Assy inlet assy 52-0152-03 $50.00
33 47218 Harness, C2, serial 36-3357-01 $67.20
34 48286 PWB, P-835, B 41-7124-26 $815.00
35 48277 Power supply, switching 51-2857-05 $71.00
36 45242 Harness, C3 38-6512-08 $33.00
37 47245 Harness, S2, PS cable 52-9653-05 $32.00

Price and availability confirmation recommended e ———

An IS0 9001 Registered Company © 2022 Rice Lake Weighing Systems 1/22 Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

RICE LAKE

WEIGHING SYSTEMS

(/2]
el
Q
=
3
}
o
T
Q
=
IE
=
c
o
(4]
D
(a]




Ishida WPL-3000

MSCU-3000






